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Ecuacion d diff y t , t$3 = subs a =
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Ecuacion :=
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CondicionesIniciales d y 0 = 0, D y 0 = 0, D D y 0 = 0
CondicionesIniciales := y 0 = 0, D y 0 = 0, D 2 y 0 = 0

with inttrans :
TransLapEcua d subs CondicionesIniciales, laplace Ecuacion, t, s
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TransLapEcua := s3 laplace y t , t, s =
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TransLapSolucion d isolate TransLapEcua, laplace y t , t, s

TransLapSolucion := laplace y t , t, s =
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Soluciond invlaplace TransLapSolucion, s, t
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evalf subs t =
609
100

$4, Solucion

y
609
25

= 216.8318673

plot rhs Solucion , t = 0 ..25
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plot rhs diff Solucion, t , t = 0 ..25
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plot rhs diff Solucion, t$2 , t = 0 ..25
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plot rhs diff Solucion, t$3 , t = 0 ..25
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Castled 4$Heaviside tK2 C tK2 $Heaviside tK2 K2$ tK3 $Heaviside tK3 C t

K4 $Heaviside tK4 K2$ Heaviside tK4 C Heaviside tK6 C tK6 $Heaviside t
K6 K2$ tK7 $Heaviside tK7 C tK8 $Heaviside tK8 K Heaviside tK8 C2
$Heaviside tK10 C tK10 $Heaviside tK10 K2$ tK11 $Heaviside tK11 C t
K12 $Heaviside tK12 K4$Heaviside tK12 ; plot Castle, t = 0 ..15

Castle := 4 Heaviside tK2 C tK2  Heaviside tK2 K2 tK3  Heaviside tK3 C t
K4  Heaviside tK4 K2 Heaviside tK4 CHeaviside tK6 C tK6  Heaviside t
K6 K2 tK7  Heaviside tK7 C tK8  Heaviside tK8 KHeaviside tK8
C2 Heaviside tK10 C tK10  Heaviside tK10 K2 tK11  Heaviside tK11 C t
K12  Heaviside tK12 K4 Heaviside tK12
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with inttrans :
TLCastillo d laplace Castle, t, s

TLCastillo :=
eK2 sCeK12 sK2 eK11 sCeK10 sCeK8 sK2 eK7 sCeK6 sCeK4 sK2 eK3 s
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